10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

ANLBR-ER

A#B:5F55E108268

CHERIREEE) B

I 5% 2 R UIE L 3 Pt | mASE | BENRMEE mHEE
gﬁi}%ﬁ?@wmsmufﬁ%@mz% B ~ _ ARLTH
B R S B T - - - AT
T S S B TS - - - AT
;Tﬂﬁﬁﬁéﬁég_j} IC).‘%;’EEW% T 18,590,000 16,730,000 16,690,000 (A)3hBaEe sy
el i S —— B - - AL
%%i¥§§1%ﬁiﬁgﬂﬁi*ﬂﬁﬁﬁl$ 2,210,000 1,970,000 1,970,000 (ﬁ)ﬁ-&]}ﬁ{e@
}gggﬁ%?ﬁgil% 2,430,000 2,400,000 2,160,000 (ﬁ)l}b,}fﬁ}i%&
byt A— - - - AT
B . B - - AL
gﬁﬁﬁ?ﬁ%/ﬁﬁmsﬁuuﬁé%@mz% 5810000 5800000 5190000 RIEhRE
) B TS ST B I T B B B ARLAH
ey T —— - B B AALTH
WmEEsIE _ - - Adleit
SHITRA L A HESRETE
%%ifﬁ;’;ﬁﬁﬁ%@ﬁ1$ 1,510,000 1,340,000 1,340,000 BEtike
é%i?iﬁﬁ (LB T 16,230,000 15,950,000 14,860,000 (k)b AH{E 8
%%?I;;i%ﬁﬁmﬁxﬁQJ%ﬁ%‘ﬁﬁ#i’%ﬁﬁlz#l—Fﬂx’SIE 5,780,000 5:700,000 5260,000 (BRI RR
i%ﬁ%’%ﬁ Kk A - AR B R T 5 20,800,000 19,500,000 19,000,000 MEN: )
%%%;ﬁg’r%ﬁj B AREEETE 18,970,000 17,340,000 17,340,000 B REE
A R (P E ) RS TS 7530000 7130000 6860000 | EmfREEEER)
e . 8710000 8700000 7940000 i
R 1 o in e s ~ - - AT
BRI ANEAL SRR T ERRRETE
ggiggé/—h/\"vzyﬁﬁk 3,618,000 2,219,400 — mEEE@SHMXE
E*ﬁ%é%%ﬁﬁﬂﬁﬁéﬁ%ﬁ%)\$#(#ﬁ;‘i&tﬁﬂﬂiiﬂz;‘%&ﬁ}*’;ﬁ&v— 2,580,000 2,540,000 - (BB
%515 1,150,800 1,032,000 - EMEE

B EMTRARREASE




RS (55 8 ZRFEMR)

A L R #Rk

1. D N R S B 4 B 4 A #L
2. r = % = AR5 22 55180-210-1 %5
3 T = 4 M E R AG S /)RR e ok L5
4, A L # H H R0 5AE10H 26 H
FHHEAR FA = Sk
5 3T = =4
TJE A B R ok 47
6. & K il FR O A% 16, 690, 000 FJh,
7. Y O M K 18, 590, 000 [+
8. % AL FH K N & A (F) pLHRE R 16, 730, 000 [+
9. fi =z
/\ H
A AL 0 #H < B Y
JIE | 2 = 4 H10E H2lE] $3[E] A
1 |(B)sLHaR R 16,730,000 P AL
2 |(CFH)VE Eh e 16,810,000
Vo R fE O s () FEIR
(BR) AL = 2% FEIR
(B)AE H ek R
LA R (BR) TR
(BR) 1 JE e FEIR
MUETEERR) R
(BN 12 3R
()& A% R

5 UEZAeREIC. 1 0 %N T D442 INE L= ERE Lo AL Th 5,



RS (55 8 ZRFEMR)

A FL B Pk
. AN # H % B 4 B o4 AN KL
2. r = % = HHEE52-675
3. T ® 4 MTEREHFA 1 SRR PE s IR & 15
4, A L # H H R0 5AE10H 26 H
Wkl ZFE HER FA = AR
5. ST £ =
TJE A B o S i
6. & K il FR O A% 1,970,000 Fth
7. Y O M K 2,210,000 [
8. % AL FH K N & A () VasRka 1,970, 000 [k,
9. fi =z
/\ H
A AL 0 #H < BT [

JIE | 2 = 4 H10E H2lE] $3[E] (A
1 |CB)VE ke 1,970,000 WRLIKT]
IICEPLIN Ff it 1,970,000

()R e% TR

TR (BR) R

(BN 12 3R

(B IR 2 — RSl

CEPE N = Ti's 1)

(B H %5 R

AT ER (FF) FEIR

(BR) 1= e FEIR

MUETEER TEIR

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

A L R #Rk

1. D N R S B 4 B 4 A #L
2. Tr = % = R HERF 55 52-3 5
3 T = 4 5.2 1[30]) 1| 0 1T 5
4, A L # H H R0 5AE10H 26 H
Wkl ZFE HER FA =M K
5 ST £ =
TJE A B R ok 47
6. & K il FR O A% 2,160, 000 M4
7. Y O M K 2,430, 000 [
8. % AL FH K N & A (F) L% 2,400, 000 4,
9. fi =z
/\ H
A AL 0 #H < BT
JIE | 2 = 4 H10E H2lE] $3[E] A
1 |(B)sLHaR R 2,400,000 P AL
2 |(B)VE Bt 2,500,000
()R e% TR
TR (BR) R
(BN 12 3R
(B IR 2 — RSl
CEPE N = Ti's 1)
CB)iEH TEIE R
AT ER (FF) FEIR
(BR) 1= e R
MUETEER R

5 UEZAeREIC. 1 0 %N T D442 INE L= ERE Lo AL Th 5,



RS (55 8 ZRFEMR)

= 10
A L iC ik
1. D N R S B 4 B 4 A #L
2. T = & 252 5 Fh4 =
3. T ® 4 LS GERCIDINEEE A NI RCIDNI By S==x =N S I = =
4, A L # H H R0 5AE10H 26 H
Wkl ZFE HER FA =M K
5. ST = =4
TJE A B R ok 47
6. & K il FR O A% 5,190, 000
7. Y O M K 5,810, 000 [
8. % AL FH K N & A (F) L% 5, 800, 000 [,
9. fi =z
/\ H
A AL 0 #H < BT [
JIE | 2 = 4 H10E H2lE] $3[E] (A
1 |(B)sLHaR R 5,800,000 P AL
2 |(CFH)VE Eh e 5,830,000
AT (FF) FEIR
(BR) - % FEIR
MUETEERR) R

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

= 14

A AL = Fk
1. D N R S B 4 B 4 A #L
2. r = % = HHEEE52-T 5
3. T ® 4 Y BTERESR: R R R S o A
4, A L # H H R0 5AE10H 26 H

Wkl ZFE HER FA = AR
5. ST = =4
TJE A B o S i

6. & K il FR O A% 1, 340, 000 Fh
7. Y O M K 1,510,000 b
8. WAL & K O 4 %A ()& LpEE 1, 340, 000 [+
9. fi =z

A FL & %A * HA7 ;Y
JIE | 2 = 4 H10E H2lE] $3[E] A
1 |(A)E LFEE 1,340,000 WRLIKT]
1 |FE B B O DY [ S 1,340,000
3 | R TZERR) 1,510,000
3 | W AnE B (R i s SE P 1,510,000
3 | REIEBTTEGRR) mE LAARSE 1,510,000
6 | I VE B R (R) 1,550,000

(BT % 1)
(F)FEE LA R

5 UEZAeREIC. 1 0 %N T D442 INE L= ERE Lo AL Th 5,




RS (55 8 ZRFEMR)

= 15
A AL = Fk
. AN # H % B 4 B o4 AN KL
9. T F % &= INEFE2-35
3 T =® 4 BARREE 1 A O b il e E T
4, A L # H H R0 5AE10H 26 H
Wkl ZFE = Sk
5 ST £ Ea
TJE A B R ok 47
6. & K )[Rl K 14, 860, 000 FJ
7. Y O M K 16, 230, 000 [+
8. % AL FH K N & A (BR) FRHEEE% 15, 950, 000 [+
9. fi =z
JIE | 2 = 4 H10E H2lE] $3[E] (A
1 [ RHERR 15,950,000 P AL
2 (IR ATATTA LY —EA 16,150,000
3 |AIHE L 17,942,450
AT (FF) FEIR
(BR) - % FEIR
() Va B ke et 3R
() 5LHA R 1)
HAKE THE R
N ] FEIR
PR FEIR

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

= 16
A AL = Fk
. AN # H % B 4 B o4 AN KL
2. T F % &= Hi5-5%
3. T = %, AT 5 AR BIIRT SR MR E T T o % o — MRS T
4, A L # H H R0 5AE10H 26 H
[ N JIAS HERE 50 A
5. ST £ =
TJE A B R ok 47

6. & K il FR O A% 5,260, 000
7. Y O M K 5, 780, 000 [
8. % FL & M O 4 FA (BR) FRHEEE% 5, 700, 000 [,
9. fi =z
JIE | 2 = 4 H10E H2lE] $3[E] (A
1 [ RHERR 5,800,000 5,700,000 AL
2 |HIHE L 6,619,950 5,750,000
PPN 6,010,000 5,750,000
4 |7aTFETATTA P —ER 5,960,000 5,790,000

AT ER (FF) FEIR

(BR) 1= e FEIR

() Va e et 3R

(B)5LR % Y

HAKE TH)E FEIR

EPE R FEIR

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

= 17
A AL = Fk
. AN # H % B 4 B o4 AN KL
2. T F % &= 545
3. T ® 4 BLEHITNT K7 AR ANEE - JBAR - iR s T8
4, A L # H H R0 5AE10H 26 H
[ N JIAS HERE
5. ST £ =
TJE A B R ok 47
6. & K )[Rl K 19, 000, 000
7. Y O M K 20, 800, 000 P4k,
8. % AL FH K N & A (LA (BR) 19, 500, 000 [+
9. fi =z
JIE | 2 = 4 H10E H2lE] $3[E] (A
1| HIAREERERR) 19,500,000 P AL
Vo fE O R () 15,290,000 IHE
(k) - % FEIR
()5 LR R R
() VP e dek !
(B M T%IE R
VG B FEIR
(B R
FH ) ik BB
KANEKOZt £ TR
Yo R

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

= 18
A AL = Fk
. ANt F ¥ B & B 4 AN FL
2. T F % &= INEREFS-105
3. T =® 4 TATH SHMA b VA EFETEH
4, A L # H H R0 5AE10H 26 H
3| JIE BEZ
5 ST £ =
TJE A B R ok 47
6. & K il FR O A% 17, 340, 000 Fh,
7. Y O M K 18,970, 000 [+
8. WAL & K O 4 %A (BR) 1 s 2 17, 340, 000 [+
9. fi =z
JIE | 2 = 4 H10E H2lE] $3[E] (A
1| (R e 17,340,000 P AL
o | HLAEERR (BR) 17,600,000
3 | PEFERR A R (R 21,260,000
(BR) - % FEIR
CEPEIN T Tt R
() Va B ke et 3R
(B M %5 R
[iz)e=NagEs R
FH ) ik BB
KANEKOZt £ TR
Yo R

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

= 19
A AL = Fk
1. D N R S B 4 B 4 A #L
2. Tr = % = FERHH-17
3. T ® 4 B e EEFEE (FHE 1) mEdEE TH
4, A L # H H R0 5AE10H 26 H
3| JIE BEZ
5. ST = =4
TJE A B R ok 47
6. & K il FR O A% 6, 860, 000 34
7. Y O M K 7,530, 000 [
8. B N VN O | PE R R B R (BR) 7,130, 000 P
9. fi =z
JIE | 2 = 4 H10E H2lE] $3[E] A
1 |VErERE A R (BR) 7,130,000 P AL
o | HLAEERR (BR) 7,150,000
3 |KANEKOZ:5E 7,493,000
(7 ray =i 6,840,000 IHE
5 | EEE 8,080,000
(BR) 1= e FEIR
() 5LHA R 1)
() 78 S e 2t 3R
(B | %5 R
[EPEXEge: R
Yo R

5 UEZAeREIC. 1 0 %N T D442 INE L= ERE Lo AL Th 5,




RS (55 8 ZRFEMR)

= 20
A AL = Fk
. ANt F ¥ B & B 4 AN FL
2. Tr = % = EREs-25
3. T ® 4 HEUEETEF S EFEE (HEH 3) MEESE T3
4, A L # H H R0 5AE10H 26 H
3| JIE BEZ
5. ST £ =
TJE A B R ok 47
6. & K il FR O A% 7,940, 000 b
7. Y O M K 8,710,000 [t
8. % AL FH K N & A FH ) A 8,700, 000 P+
9. fi =z
JIE | 2 = 4 H10E H2lE] $3[E] (A
1| 8,830,000 8,700,000 P AL
o | PR A B (R) 9,000,000 8,800,000
AR ERE (1) 7,700,000 IHE
KANEKO#Z: &L 7,739,000 IHE
(BR) - % FEIR
() Va B ke et 3R
() 5LHA R 1)
CB)iEH TEIE R
[EPEAE =S FEIR
(BR) A e 2 FEIR
Yo R

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

= 22

A AL = Fk
1. A K F B 4 B 4 A #L
2. /TR = L 5-12 5
3. 47 i 4 MEEEST ) — hoXy a N
4, A L # H H R0 5AE10H 26 H

PR P Est MG IER
5. ST £ =
TJE A B R ok 47
6. & K )[Rl K —
7. Y O M K 3,618, 000 [
8. % AL FH K N & A VU [E] i it (B e 0 3 5 2,219,400 [
9. fi =z
/\ H

A FL & % * HA7 ;Y
JIE | 2 = 4 H10E H2lE] $3[E] A
1| DY [E s g ) & =5 2,219,400 P AL
2 | mEEHEE 2 — 2,352,240
3 |7—/LREVRAL AT LFER) 2,399,760
4 |BRE BN EA 75T 7 2,480,000
5 |(BR)E 1 2,484,000
6 |(FR)=1L 2,534,000
7 | BREEEWR) e T 2,762,100
8 | VU ETEHEH 2 7 —FR) 3,570,000

FOWE Al T A S — TR

5 UEZAeREIC. 1 0 %N T D442 INE L= ERE Lo AL Th 5,




RS (55 8 ZRFEMR)

A KL F &% 23

1. A K B 4 B 4 A #L
2 /B R = L Es-115
3 ) i3 %, gig%ﬁ%ﬁmwmwuﬁﬁ$¥(ﬁﬁ&oi%mzéﬁﬁ%&v &
H T
4, A L # H H S0 5HE10H 26 H
A 7 P B
5. ST £ =
T HEA B Fni& 4 A
6. & K )[Rl K —
7. Y O M K 2,580, 000 [
8. B N VN O | (KR) 1R 15 2,540, 000 P,
9. fi =z
/\ H

A FL & %A * HA7 ;Y
JIE | 2 = 4 H10E H2lE] $3[E] A
1 |RREE; 2,540,000 AL
2 | (B IS Bh 9 ik 2,580,000
3 |(BR)7maAD 2,600,000
4 (BRI ATBE S —1 A 2,620,000

URENA PN FEIE)

5 UEZAeREIC. 1 0 %N T D442 INE L= ERE Lo AL Th 5,



ST (5 8 ZREAMR)

= 24

A L =C Fk
1 A HfL F B 4 ¥ 4 AN #fL
2 /T R 515
3 ¥ b 4 EHEREEE T A S N3
4 A L & A B SFn 54£10H26H

=W A AR
5 ST & &
+E HEA B R Foid &F f#

6. & K & ROl & —
7. Y E i 1, 150, 800 M4k
8. WAL & Kk N & B (k) ¥R ps [ 5 1,032,000 M
9. fi =

A AL % %A = AL : M
JIE | 2 = 4 1] | 2530 W B
1 |(BOMRPE NS 1,032,000 EAL
2 |(B)7 7Y AR—Y 1,039,000
3 |(B) I h S 1,049,000
4 |(BRR S 1,050,000
5 |(BR) ARG S —Ee 1,078,000
6 |(BR)FH EAR—Y 1,100,000
7 |BR)7aAv 1,286,000

BR)7 & 772 IHE
PRI SECR) FEIR

H%E L%erIC,

1 0 %ITHE T 282 INE LN ER O ALmE Th 5,




